Jefferson County Public Schools

Bid Tabulation
Event Name: Print Shop Supplies (Materials Production)
Event ID: JCPS-8440
Approval Date: May 13, 2025
Date Bids Received: April 10, 2025
Contract Period: June 6, 2025 through June 5, 2026

Renewals: No renewal option

Comments: Award Status indicates an award

								1					
Item Number	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
001	Adhesive brushes, 2".		4600548-2011932		1 - Each Purchase	24			NO SUBMISSIONS	NO SUBMISSIONS			
002	Adhesive, padding, for carbonless forms, gallons only.	Suitable for all carbonless sheets.		Athens Paper Company	1 - Gallon Purchase	10	Nekoosa	2115	\$212.0000	\$2,120.0000	Athens# 907044	Awarded	
003	Adhesive, padding, regular white.	Gallons only, for standard note pads.		Athens Paper Company	1 - Gallon Purchase	10	Har Adhesives	WCH-gallon	\$19.5000	\$195.0000	Athens# 907005	Awarded	
004	Alcohol, Isopropyl 99%.	5 gallon cans only.			1 - 5 Gallon Purchase				NO SUBMISSIONS	NO SUBMISSIONS			
005	Box, business card, white, or grey.	Die cut, folded flat with pop-up bottom and flap style top. Size for 500 cards.		Athens Paper Company	1 - Each Purchase	20	Prestige	H25	\$93.5000	\$1,870.0000	Athens# 003794 - WHITE	Awarded	
006	Cleaner, ProSoap water activated, hand.	3 lb. tub. NO SUBSTITUTE. Typical yearly consumption, 12 tubs.			1 - Each Purchase	4			NO SUBMISSIONS	NO SUBMISSIONS			
007	Drill blocks, wood, hardwood, 3".	Challenge #EH3A drill or equal.			1 - Dozen Purchase	2			NO SUBMISSIONS	NO SUBMISSIONS			
008	Gloves, disposable.	Medium, large and X-large. No latex. Blue Nitrile. NO SUBSTITUTE.		Athens Paper Company	1 - 100 Count Box	20	Essendent	TBD	\$60.0000	\$1,200.0000	case - 100	Awarded	
009	Lube stick, for paper drill.	Drill Ease or equal. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify number of sticks per carton.			1 - Dozen Purchase	4			NO SUBMISSIONS	NO SUBMISSIONS			
010	Spray, glass cleaner, can.	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State number of cans per case and can size.			1 - Each Can	4			NO SUBMISSIONS	NO SUBMISSIONS			
011	Spray, static kill.	Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify size of can and number of cans per case.			1 - Each Can	12			NO SUBMISSIONS	NO SUBMISSIONS			
012	Wipe, disposable, lint free. 9.1" x 16.8", Red, 80 per box, 5 pop-up boxes per case.	Kimberly-Clark Wypall X80. NO SUBSTITUTE. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State price per case and number of boxes per case.			1 - 5 Count Case	12			NO SUBMISSIONS	NO SUBMISSIONS			
013	Wire, stitcher.	#25 round, tinned. NO GALVANIZED ACCEPTED.			1 - 5 Pound Spool	10			NO SUBMISSIONS	NO SUBMISSIONS			
Lot Item Nos. 14-16	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
014	Box, corrugated, shipping. Flat.	Size 17.25" x 11.25" x 12". RSC 200#/ECT-32.		Athens Paper Company	1 - 25 Count Bundle	40	Jamil	282566	\$32.5000	\$1,300.0000	Price per bundle of 25 - minimum order 40 bundles - 1000 cartons - 1300.00/m	Awarded	
015	Box, corrugated, shipping. Flat.	Size 17.25" x 11.25" x 6". RSC 200#/ECT-32.		Athens Paper Company	1 - 25 Count Bundle	40	Jamil	282567	\$26.8500	\$1,074.0000	Price per bundle of 25 - minimum order 40 bundles - 1000 cartons - 1074.00/m	Awarded	

016	Box, corrugated, shipping. Flat.	Size 17.25" x 11.25" x 8". RSC 200#/ECT-32.		Athens Paper	1 - 25 Count	40	Jamil	282568	\$29.1500	\$1,166.0000	Price per bundle of 25 -		
	. ,			Company	Bundle				,	, ,	minimum order 40 bundles -	Awarded	
											1000 cartons - 1166.00/m		
Lot Item							Manufacturer /	Manufacturer Part					
Nos. 17-19	Box, stationery, white, or grey.	Die cut folded flat with pop-up. Size 8.5" x	Commodity Code	Athens Paper	1 - 100	Quantity 40	Provider Prestige	Number JA-1	\$121.5000	Total Price \$4,860.0000	Vendor Response Item Notes Athens# 027045; size= 8.5 x 11	Award Status	Award Notes
	,,,, 8,	11" x 2".		Company	Count Box				7-2-0000	7 1,000.0000	x 2.5 WHITE	Awarded	
018	Box, stationery, white, or grey.	Die cut folded flat with pop-up. Size 8.5" x 11" x 4".		Athens Paper Company	1 - 100 Count Box	40	Prestige	JB-1	\$106.2500	\$4,250.0000	Athens# 027032; size= 8.5x11.5x4 WHITE		
		^7.		company	Count Box						U.SXII.SX4 WITTE	Awarded	
019	Box, stationery, white, or grey.	Die cut folded flat with pop-up. Size 8.5" x		Athens Paper	1 - 100	2	Prestige	JB99	\$254.6000	\$509.2000	Gray		
		14" x 2".		Company	Count Box							Awarded	
Lot Item Nos. 20-21	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
020	Cutter stick.	1/2" x 1/2" x 30 1/2", plastic for Challenge		Athens Paper	1 - Dozen	1	Graphics Arts	55305	\$141.0000	\$141.0000	Price for one dozen		
		Model #305 paper cutter or equal.		Company	Purchase							Awarded	
224	A 11 11 1						0 11 1		4000 0000	4.50.4000			
021	Cutter stick.	1/2" x 1/2" x 37", plastic for Challenge Model #370.		Athens Paper Company	1 - Dozen Purchase	2	Graphic Arts	5537	\$226.2000	\$452.4000	Price for one dozen	Aa.da.d	
												Awarded	
		1											
Lot Item							Manufacturer /	Manufacturer Part					
Nos. 22-34	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Provider	Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
022	Element, spiral, plastic binding.	4:1 or .2475", 22mm coil, 12", basic colors.		Athens Paper Company	1 - 100 Each Purchase	1	Southwest	22mmb	\$40.0000	\$40.0000	Black	Awarded	Awarded Lot Item Nos. 22- 34 with the exception of 23, 2
												Awarueu	6, 29, 32 & 34 as allowed by t he bid.
023	Element, spiral, plastic binding.	4:1 or .2475", 22mm coil, 12", neon colors.			1 - 100 Each	1			NO SUBMISSIONS	NO SUBMISSIONS	5		ne bid.
					Purchase								
024	Element, spiral, plastic binding.	4:1 or .2475", 22mm coil, 12", standard colors.		Athens Paper	1 - 100 Each	1	Southwest	22mmc	\$44.0000	\$44.0000	white, navy, clear		Awarded Lot Item Nos. 22-
024	Element, spiral, plastic binding.	4.1 or .2473 , 22mm con, 12 , standard colors.		Company	Purchase	_	Southwest	22111110	\$44.0000	Ş44.0000	write, navy, cicar	Awarded	34 with the exception of 23, 2
													6, 29, 32 & 34 as allowed by t he bid.
025	Element, spiral, plastic binding.	4:1 or .2475", 28mm coil, 12", basic colors.		Athens Paper	1 - 100 Each	1	Southwest	28mmb	\$54.0000	\$54.0000	Black		Awarded Lot Item Nos. 22-
				Company	Purchase							Awarded	34 with the exception of 23, 2 6, 29, 32 & 34 as allowed by t
026	Element, spiral, plastic binding.	4:1 or .2475", 28mm coil, 12", neon colors.			1 - 100 Each	1			NO SUBMISSIONS	NO SUBMISSIONS	3		he bid.
					Purchase	_							
027	Element, spiral, plastic binding.	4:1 or .2475", 28mm coil, 12", standard colors.		Athens Paper Company	1 - 100 Each Purchase	1	Southwest	28mmc	\$62.5000	\$62.5000	white, navy, clear		Awarded Lot Item Nos. 22- 34 with the exception of 23, 2
				company	Turchase							Awarded	6, 29, 32 & 34 as allowed by t
028	Element, spiral, plastic binding.	4:1 or .2475", 30mm coil, 12", basic colors.		Athens Paper	1 - 100 Each	1	Southwest	30mmb	\$64.5000	\$64.5000	black		he bid. Awarded Lot Item Nos. 22-
				Company	Purchase							Awarded	34 with the exception of 23, 2 6, 29, 32 & 34 as allowed by t
													he bid.
029	Element, spiral, plastic binding.	4:1 or .2475", 30mm coil, 12", neon colors.			1 - 100 Each Purchase	1			NO SUBMISSIONS	NO SUBMISSIONS	5		
030	Element, spiral, plastic binding.	4:1 or .2475", 30mm coil, 12", standard colors.		Athens Paper	1 - 100 Each	1	Southwest	30mmc	\$68.5000	\$68.5000	white, navy, clear		Awarded Lot Item Nos. 22-
	-			Company	Purchase							Awarded	34 with the exception of 23, 2 6, 29, 32 & 34 as allowed by t
													he bid.
031	Element, spiral, plastic binding.	4:1 or .2475", 32mm coil, 12", basic colors.		Athens Paper Company	1 - 100 Each Purchase	1	Southwest	32mmb	\$68.5000	\$68.5000	black		Awarded Lot Item Nos. 22- 34 with the exception of 23, 2
				,								Awarded	6, 29, 32 & 34 as allowed by t
													he bid.

		T	1	T			ı	_		1		г	I
032	Element, spiral, plastic binding.	4:1 or .2475", 32mm coil, 12", neon colors.			1 - 100 Each	1			NO SUBMISSIONS	NO SUBMISSIONS	•		
					Purchase								
033	Element, spiral, plastic binding.	4:1 or .2475", 32mm coil, 12", standard colors.		Athens Paper	1 - 100 Each	1	Southwest	32mmc	\$71,2500	\$71.2500	white, navy, clear		Awarded Lot Item Nos. 22-
055	Element, spiral, plastic sinding.	ini or iz 175 , szimir com, iz , standard colors.		Company	Purchase	-	Southwest	52	ψ, 1.2500	Ç/1.2500	winte, navy, elear		34 with the exception of 23,
				company	, archase							Awarded	6, 29, 32 & 34 as allowed by
													he bid.
034	Filament, spiral on spools.	Plastic spiral filament to produce spiral binding			1 - 25	40			NO SUBMISSIONS	NO SUBMISSIONS			
		elements. 1.8 mm, 2.0 mm, 2.2 mm, 2.4 mm			Pound								
		and 2.6 mm. White, black and clear colors			Spool								
		only.											
Lot Item							Manufacturer /	Manufacturer Part					
Nos. 35-42	Item/Service	Description	Commodity Code	Vendor Name	UOM	Quantity	Provider	Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
035	Envelope, catalog, gummed flap,	Size 10" x 13". 28#, Brown Kraft or equal.		Athens Paper	1 - 500	20	Wisco	BOB10FF	\$98.1500	\$1,963.0000	Athens# 803021 - Price is per		
	short end of envelope.	,		Company	Count Box					, ,	1000; regular gum		
	·			, ,								Awarded	
036	Envelope, catalog, gummed flap,	Size 12" x 15.5". 28#, Brown Kraft or equal.		Athens Paper	1 - 50 Count	10	Papercove	TBD	\$303.2000	\$3,032.0000	Price per 1000; 500 per case; 3-		
	short end of envelope.			Company	Box						5 days; zip stick	Awarded	
												Awaraca	
							_		4				
037	Envelope, catalog, gummed flap,	Size 12.5" x 18.5". 28#, Brown Kraft or equal.		Athens Paper	1 - 50 Count	10	Papercove	TBD	\$1,431.7500	\$14,317.5000	Price per 1000; 17-20 working		
	short end of envelope.			Company	Box						days; regular gum	Awarded	
038	Envelope, catalog, gummed flap,	Size 14" x 20". 28#, Brown Kraft or equal.		Athens Paper	1 - 50 Count	10	Papercove	TBD	\$1,700,0000	\$17,000.0000	Price per 1000; 17-20 working		
***	short end of envelope.			Company	Box				, -,··	+ ,	days; regular gum		
	·			, ,							,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Awarded	
039	Envelope, catalog, gummed flap,	Size 15" x 20". 28#, Brown Kraft or equal.		Athens Paper	1 - 50 Count	10	Papercove	TBD	\$1,723.9500	\$17,239.5000	Price per 1000; 17-20 working		
	short end of envelope.			Company	Box						days; regular gum	Awarded	
												Awarueu	
212	- 1 10						-		44 000 0000	440.000.000			
040	Envelope, catalog, gummed flap,	Size 17" x 22". 28#, Brown Kraft or equal.		Athens Paper	1 - 50 Count	10	Papercove	TBD	\$1,809.3500	\$18,093.5000	Price per 1000; 17-20 working		
	short end of envelope.			Company	Box						days; regular gum	Awarded	
041	Envelope, catalog, gummed flap,	Size 6" x 9". 28#, Brown Kraft or equal.		Athens Paper	1 - 500	20	Wisco	BOB6FF	\$62.0000	\$1,240.0000	Athens# 803015 - Price is per		
-	short end of envelope.	, , , , , , , , , , , , ,		Company	Count Box	1					1000; regular gum		
											,	Awarded	
042	Envelope, catalog, gummed flap,	Size 9" x 12". 28#, Brown Kraft or equal.		Athens Paper	1 - 500	20	Wisco	BOB9FF	\$82.8500	\$1,657.0000	Athens# 803019 - Price is per		
	short end of envelope.			Company	Count Box						1000; regular gum	Awarded	
												Awaraca	

Jefferson County Public Schools

Award Sumamry

Event Name: Print Shop Supplies (Materials Production)

Event ID: JCPS-8440

Approval Date: May 13, 2025

Vendor	Bid Total	Award Total
Athens Paper Company	\$94,153.3500	\$94,153.3500